Days 2-3 Notes: Graphing the Sine Function
SWBAT: __ o\/opy the ging function
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Characteristics of é Sine Graph

Period -t O 0f one cycle, of dne function

Amplitude - Now V\\ah\\(w\l J{N OTC\VV\ OOQS ()«bb\f‘e , elow W\\A‘\m (+)
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Graphing Variations of the Sine Function
Y =@)sin b(x - ¢) + d
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Steps for Success: N = sin( or- O
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1. Identify the K@lﬁ %O\'\\AY@S*of\t\hei\Jﬁ\c\t%&X )

2. Draw a dotted line to show any vertical shift that occurs (this is your YV\.dh] X@ Y
: ’ 4 . v ) :
3. *Using the AD\AUAL, Iabel how high/I8w above the midline your sine function will reach.

4. Find the values of x for tﬁe Sjmmﬂa point (c, where the cycle begins) and the Q\d\ﬂcﬂ point
7
(period +/- phase shift, depending on which \'/\LC\\! L ‘Qv\ﬁC‘TWr\ \{Y\b\}(d ).

5. Remember to'g \\ E the graph if the function is negative!

6. Draw a smooth curve and graph one complete cycle of the function.

*Remember: Sine Starts in the SD\L .* This means it should start & end on the (ﬂ\d“r\c
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Day 10 Classwork
1. Graph y =2sin(x) +1
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Find the start/end points.

Amplitude =

Cvin @l poindy:

Phase shift = nOY‘\Q Vertical Shift = @L

Period = 7—-“

M
(L PR : ;
(v e
(.?"ﬁ"l—\"h il Sk PN B
("L“ \ ‘\ ‘

2. y=-35in(x-{£)+1
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Amplitude = 3 Period = /]"ﬁ Phase shift=HQkﬂ 1/5 Vertical Shift = | AE \
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1 Y=-2sin20-2 = 29 6in (0 -1

Amplitude = (Z‘ Period= &N = TI Phase shitt = (1ONE Vertical Shift=d°_\&_0 T
Find the start/end points. s
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2. y=3sin(x+7)-1
Amplitude = Period = Phase shift = Vertical Shift =

Find the start/end points.
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